Subject: Re: Constructing a grid larger than 60 by 60 boxes
Posted by Jean H. on Thu, 17 Apr 2008 16:31:19 GMT

View Forum Message <> Reply to Message

You just have do do two loops of "oplot", one for all your horizontal
grid lines and the other for all the vertical grid lines.

Ciao,

>
>
>
>
> Paolo

:-) you answered faster... | knew | shouldn't do 10 things at the same
time!

for i=0, 210 do oplot,[!X.Crange[0], 'X.Crange[1]], ['Y.Crange[0] +
i*(('Y.Crange[1]-!Y.Crange[0])/210),!Y.Crange[0] +
i*(("Y.Crange[1]-!Y.Crange[0])/210)]

In the second loop, change !X for 1Y, 1Y for !X and 210 for 130...

Jean
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